~+ Examplg 7%« 5 The system acetone(1)/acetonitrile(2)/nitromethane(3) at 80°C
and 110 kPa has the overall composition, z; = 0.45, 22 = 0.35, z3 = 0.20. Assuming
that Raoult’s law is appropriate to this system, determine £, V, {z;}, and {y;}

The vapor pressures of the pure species at 80°C are

PP =19575  Pf* =0784 P =50.32 kPa
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A 3.5 mole/s binary mixture of acetone(1)/methanol(2) contains 25-mole% acetone is flashed
at 60 °C. The composition of the liquid leaving the drum contains 17.5-mole% acetone.
Assuming that Raoult’s is an adequate description for the VLE of this system, calculate:

(a) The pressure of the flash drum. g )0-2
(b) The flow rates of the vapor and liquid streams leaving the drum. _Lakle
(c) The composition of the vapor stream.
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